2019-03-17

201985 /57 <> L—X Round?2 WEATHER : Cloudy
FIT 1.5FvLoohyT COURSE : Wet
R
Lap Time Chart EEL— 2 T—X

5 BEE BH NIN-XREHBEFHIVMHBERALTI- GK-5

1= 2'39.467 3= 2'36.765 5= 2'37.540 6= 2'36.830 7= 2'37.304 8= 2'37.810
2= *2'35.388 4= 2'37.076

14 L@ #HF Y1ZVJRGHIBIENUTECTZVTI GK-5
1= 2'38.476 3= 2'35.674 5= 2'36.704 6= 2'36.726 7= 2'36.644 8= 2'37.618
2= *2'34.852 4= 2'35.795

18 FHE BN TIRIWSxKE—AMFITX*ED GK-5

1= 2'45.415 3= *2'36.138 5= 2'37.509 6= 2'38.034 7= 2'38.636 8= 2'42.823
2= 2'37.480 4= 2'36.815

20 RE TR BrER«TERABAFHEEFIT GK-5

1= 2'41.632 3= 2'34.845 5= 2'35.699 6= 2'34.677 7= 2'47.322 8= 2'35.509
2= *2'33.574 4= 2'35.436

22 R &KX vFILd HEBE FIT GK-5

1= 2’45915 3= 2'38.864 5= *2'36.273 6= 2'36.586 7= 2'37.185 8= 2'37.720
2= 2'39.045 4= 2'37.046

25 K& % 9= Juybk FIT GK-5

1= 2'46.864 3= 2'40.938 5= 2'38.585 6= 2'38.755 7= 2'39.087 8= 2'39.789
2= 2'40.368 4= *2'38.500

33 ZH A& K-OneFitx«SPMxWm#XJII33 GK-5

1= 2’45171 3= 2'42.621 5= 2'42.889 6= 2'42.162 7= 2'42.910 8= 2'44.792
2= *2'41.669 4= 2'42.412

34 8K #I ATJ&HCM by NOCxYH GK-5

1= 2'50.258 3= 2'44.044 5= 2'41.656 6= *2'41.006 7= 2'41.576 8= 2'42.405
2= 2'48.343 4 2'42.217

37 KM 4% Winmax-SPM-K-ONEXJIIEG GK-5

1= 2'42.704 3= *2'40.042 5= 2'42.356 6= 2'41.303 7= 2'41.427 8= 2'41.568
2= 2'40.819 4= 2'41.370

51 AT BB HL—INFAN Moty.s HIEBIE GK-5

1= 2'37.615 3= 2'37.626 4= *2'34.909 5= 2'36.269 6= 2'36.762 7= 2'36.066
2= 2'35.609

57 BHE K YO7749—REENGxHIEIEXFIT GK-5

1= 2'38.289 3= 2'35.391 5= 2'36.283 6= 2'35.634 7= 2'36.056 8= 2'38.582
2= *2'34.704 4= 2'36.253

77 FWE BR b WS FHZHFIT GK-5

1= 2'36.739 3= 2'35.628 5= 2'36.141 6= 2'36.128 7= 2'39.370 8= 2'38.032

2= *2'35.238 4= 2'35.688



201985E4Y57 <L —X Round2
FIT 15FvL2ohyT
R

Lap Time Chart

80 Rk Bt KOID—TEREREBIVOVIKYRHEE GK-5

1= 236219 3= 235814 5= 2'36.133
2= %235.384 4= 2'35.651

81 B #= KYRTOZHHBETOEFIVIFIT GK-5
1= 237421 3= 235607 5= 2'36.252
2= *235.124 4= 2'36.303

82 HE MR RFCHO-X7PYIRsTHAIY GK-5

1= 242863 3= 235409 5= 2'36.204
2= %2'34680 4= 2'35.956

2019-03-17
WEATHER : Cloudy

COURSE : Wet

EL—>203—X

6= 2'36.127 7= 2'37.026 8= 2'39.851
6= 2'38.531 7= 2'36.815 8= 2'37.540
6= 2'36.353 7= 2'36.132 8= 2'36.935



